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Y 2 A B
H|57| 20134 129 312 Six|
47| 201214 122 312 Six|
(AhCHBHRl = 1S3 AFCH (THR): &)
|57 XN|47
Ly o 4157 | q147|
Xt A
1. X4t 7,545,863 4,172,726
7}, SEERA 7,545,863 4,172,726
1) sz - 150,500
2 Es0= 7,287,003 4,022,226
(3) 0|2 258,860 -
2. H S EX}AH 65,301,100 13,440,100
7} SE XA 15,251,100 13,390,100
(1) Xj2F8r 12,117,000 12,117,000
) 5| = 3,134,100 1,273,100
L}. 7|EFH| S S X} A 50,050,000 50,000
1) EX™ol= 50,000,000 0
Q) BEz=2 50,000 50,000
Xt B 72,846,963 17,612,826
72 Xy
1. SEu3y 22,287,067 21,483,839
(1) O|x22 22,287,067 21,483,839
2. HRSEX 20,339,772
1) Bl SAHSEEXY 20,339,772
2 ZA 42,626,839 21,483,839
= X} A
1 7|23 (AT 50,000,000 0
1) 7|2 x4t 50,000,000 0
2. 2K}l -19,779,876 -3,871,013
(1) ®7|0| Lk}l -3,871,013 3,254,470
2) 7| 2FKtH -15,908,863 -7,125,483
=Xt A 30,220,124 -3,871,013
Bt =Xt A 72,846,963 17,612,826
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57| 20134 19 12EE 20134 129 317X
HM47] 2012 19 1QEE 20124 122 31UHX|

(ADCHSH Bl W - S AFEH (ELQ|: &)
A s+ 8 A2 s
104 —10H
= = =] o
MI57] X47] H57| H47]|

1. 3[H| 6,000,000 7,200,000 (1. AFH]| 114,550,132 122,327,666
(1) 7| 23H| 6,000,000 7,200,000 7h AFoIAH| 7,255,000 9,655,000
(2) 3| - - (1) 7|EFALE Q1A H| 7,200,000 9,600,000
2.5912 211,464,250 206,304,780 2) AL 55,000 55,000
7t HtS A F 125,104,150 117,351,780 L}. AP 29| 58,133,692 56,935,976
@ Hel=zda 49,529,150 14,606,780 (1) AAFK| QU] 25,922,740 26,455,350
Q) 7| 2=23 9,275,000 36,580,000 (2) ML 572,570 743,030
3) A= RE 66,300,000 66,165,000 (3) RIZALEH| 3,210,400 5,047,810
L. E¥2HS 86,360,100 88,953,000 (4) 2APRFRE|H]| 2,373,330 1,905,808
1) Hosg= - - (5) 2 ALK 21H| 2,429,834 4,031,150
@ 7|=zda 86,360,100 87,875,000 (6) ZlgtH] 2,152,560 1,878,230
(3) oAM= dF - 1,078,000 (7) Six et & 5,798,300 6,609,010
3. AH 4 26,880,270 29,375,900 8) EZU=HH| 11,070,368 7,968,688
1) =X 23 26,880,270 29,375,900 (9) 2[2lH| 798,870 251,500
4. BZXZ 2,000,000 - (10) L7} 2th] 248,420 76,400
(1) Yot x= 2,000,000 - (11) EEHS X 2| 3,556,300 1,969,000
5. ALY Q| 9l 26,201 519,017 Ct AR S HH| 4,591,830 4,344,860
(1) 2=QI0| X} 26,201 8,706 (1) 32 SX 2| 2,950,830 2,920,970
Q) EPZ|IaHYU=s - 510,311 (2) Y23 1,641,000 1,423,890
2. AFH Y ALH| 44,569,610 51,391,830
1) HaAEgR2 16,957,000 21,423,600
(2) AH| 12,088,830 12,244,970
(3) ZArALE(H]| 1,000,000 900,000
4) nEH| 2,416,000 6,915,400
(5) TlehH| 4,835,380 7,976,560
(6) At= A ZtH| 7,272,400 1,931,300
2. AFR 22| H| 14,416,736 13,855,309
(1) A=l 525,000 -
2) EAH| 1,007,410 1,025,660
(3) QI2HH| 34,500 12,210
@ 2|2l 566,080 860,330
(5) AR EH| 1,820,600 2,458,210
(6) =44 398,000 440,500
(7) WEH| 2,973,900 2,666,226
(8) 2ty 305,260 170,000
Q) ==& ZH| 932,040 1,302,310
(10) 28lg 625,980 772,890
(11) 22|=MH| 1,147,220 1,195,330
(12) w2 TH| 1,563,200 540,420
(13) O|Atz|2fH] 341,500 529,780
(14) X g8 698,416 954,903
(15) M MS2t= 479,040 98,390
(16) FcHH| 153,650 120,080
(17) &&H| 409,940 339,640
(18) A2kt ] 291,000 -
(19) &&d 144,000 368,430
3. 2| 2gH|(lHH]) 133,312,716 114,342,205
L =9 102,204,240 105,725,415
) o= 1,500,000 300,000

3) &&= 20,339,772
O k= 9,268,704 8,316,790
71 &4 262,279,584 250,525,180
293 X o -15,908,863 -7,125,483
Zl2= A 0 0
2o+ 246,370,721 243,399,697 s A 246,370,721 243,399,697




= X| A M A
H57] 20134 19 1QHE 2013H 129 3127}HX|
HM47] 20124 19 1QEE 20124 129 3127}HX|
(ADCHeHRl 2 W | S AHE (TH2l: 9)
N A2 x =
Jn/ =1 H|57| H47| a5 H57 H47|

1. 34| 6,000,000 7,200,000 |1. A}QiH]| 102,093,032 122,327,666
(1) 7|22y 6,000,000 7,200,000 7t AbiQIZiH| 7,255,000 9,655,000
(2) =gy - - (1) 7|EfAtY QI 74H 7,200,000 9,600,000
2. 28= 211,464,250 206,304,780 (2) e229H| 55,000 55,000
7L RS 125,104,150 117,351,780 L. AF2EH| 45,676,592 56,935,976
D Hel=)= 49,529,150 14,606,780 (1) A ALK| 4] 15,753,240 26,455,350
2 71H=da 9,275,000 36,580,000 (2) IR 572,570 743,030
() O|At=RF 66,300,000 66,165,000 (3) Rl ZAEH| 3,210,400 5,047,810
Lt EE2Y2 86,360,100 88,953,000 (4) 2 ARFREE|H| 2,373,330 1,905,808
L == - - (5) 2 AFK}Z 2{H] 2,429,834 4,031,150
7=z 86,360,100 87,875,000 (6) XI&lH| 2,152,560 1,878,230
(3) oAM= HAF - 1,078,000 (7) SixtStEH| 5,798,300 6,609,010
3. Ard¢d 26,880,270 29,375,900 (8) ZU=A|H| 8,782,768 7,968,688
(1) QXL 26,880,270 29,375,900 (9) 3|2|H] 798,870 251,500
4. Hx5 2,000,000 - (10) 717} 2| 248420 76,400
1) et xg 2,000,000 - (11) ETHEH 2| 3,556,300 1,969,000
5. At 9l 9 26,201 519,017 C}. AlYE R H| 4,591,830 4,344,860
(1) Q0| Xt 26,201 8,706 (1) 2 SH 2| 2,950,830 2,920,970
2 EPIsdes - 510,311 2 H29H| 1,641,000 1,423,890
6. =XM1 23) 50,000,000 - 2f. ALYl AtH| 44,569,610 51,391,830
(1) 7| 2 XY A 50,000,000 - 1) Zargz 16,957,000 21,423,600
(2) AlH| 12,088,830 12,244,970
(3) ZAFALE[H] 1,000,000 900,000
(4) REH| 2,416,000 6,915,400
(5) Tl 4,835,380 7,976,560
(6) At= X ZtH| 7,272,400 1,931,300
2. ApR 22| 14,416,736 13,855,309
1) d=ae| 525,000 -
(2) SAlH| 1,007,410 1,025,660
(3) QlafiH| 34,500 12,210
(4) 2|2|H| 566,080 860,330
(5) AR EH| 1,820,600 2,458,210
(6) 4= H 398,000 440,500
(7) WEH| 2,973,900 2,666,226
(8) 2ty 305,260 170,000
9) ==& ZH| 932,040 1,302,310
(10) &= 625,980 772,890
(11) =2|=-dH| 1,147,220 1,195,330
(12) W2 &H| 1,563,200 540,420
(13) OfAtz[olH] 341,500 529,780
14) XgsTE 698,416 954,903
(15 MM S1t= 479,040 98,390
(16) HriH| 153,650 120,080
(17) &5 409,940 339,640

(18) AtEkatz|H| 291,000
(19) & 144,000 368,430
3. |- 2FH[(YZH]) 106,040,194 75,524,535
o =9 95,271,490 66,907,745
(2) &olz 1,500,000 300,000
(3) ACHEH 9,268,704 8,316,790
4. Xpot 52,119,860 -
1) O3 258,860 -
(2 Hl& 1,861,000 -
Q) 584 = 50,000,000 -
5. R (FSFH) 18,586,622 28,047,855
O ox2= 18,586,622 28,047,855
27 =4 296,370,721 243,399,697 ct 7] X| & A 293,256,444 239,755,365
oo Ea 4,172,726 528,394 Xt 7101 2 7,287,003 4,172,726
s A 300,543,447 243,928,091 = 7 300,543,447 243,928,091




M EOf Cist =N

X|57| 2013 122 31 SxY

=5 Ha g7 i
b= 12.31 A|XY - 150,500
BE0Z St 3 7,286,151 4,022,226
T U2Y(eHEl+a]) - -
7|82 852 -
7,287,003 4,172,726
2. 0|x3
= Ha 27 i
o432 AL ASA| 258,860 ;
3. Edd=
= Ha 27 7
84 = HolEA7 g 50,000,000 -
4. RpZ 2t
T Zol HIE AL TEHE
o Dk}t 12,117,000 B 1252595 20114 8¢
5 HIE
He = e =
LR T(2011F 174 192,500 M EH2011) 99,000
ZAEE 1C4(2011) 694,100 S L|E 1CH(2013) 195,800
D L|Ef 1CH(2011) 112,200 E| 0] & 47}(2013) 770,000
21 X| CH(2011) 24,400 M EH(2013) 57,900
DL E| gHEICH(2011) 38,700 mZ2IE 1C4(2013) 194,900
Jiele ®20|(2011) 29,700 ZAZE 104(2013) 642,400
7Hole A 2HEH2011) 82,500
g A 3,134,100
6. 0|X| 25
o = o il el K /AR
JNRSTE] 12,457,100 WEAZ AlH| o2 (S4 4 H)
kel 6,932,750 =0QMHER) UM 282F
INE IR 2,897,217 29~363| XH871 ) SOl 7)) &
g A 22,287,067
7. E|X205EE
He = CH&f =571
g% g 8,735,161 RN 22E 11.06.01~13.12.31
4,147,162 B RIS ZEAL 11.08.01~13.12.31
3,771,211 SHX| S| ZHAL 11.06.13~13.12.31
3,686,238 OS] ZEAL 11.07.04~13.12.31

%

A

20,339,772




